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Avrement : Class meets in Gates 122 on Monday.

min weight Vertex cover : minimize swers
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A tractional vertex cover that isn't a tre ratex cover :
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But this fractional one has =x
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so i is not a convex combo of

genuine vertex covers .

LP Rounding Agarithm for Vix Cove

① Soha LP relaxation

② Round eqch Xm to nearest integer.

sound xit up to 1)
③ Output S = Gr/ xr rounded to 13 .



why is S a vertex cover ?
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Why is its cost approximately optimal ?
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If S is the set closen by our algorithm
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Or is minimizing ever integer
Solutions ,

↳- Oft minimizes

over integer and fractional
solutions .

Primal-Daar Approx. Algorithm
Plan of attack . Formulate the diar of the

verten cover relation ,

Unt: x = 40, 13 which is faceisible for the

vortex cover LP

i
.e . x is (a vector encoding of

a verted cover.
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this
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Algorithm .

Initialize X = 0 Fr

Yar = 0 -(n,)

Sr = 0 Fr Il Sure Bur
Mark all edges uncovered

.

while I edge Cur) that is uncovered
Increase as much es possible ,

respecting
""

duar constraints
·

6 = min(w(n) -s ,

w()- Sb

Yur
= S

Su * SutS, See St S

for all
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x = A

mark all edges incident to g as covered
endwhil

output S
= Gr/ xr = 13 .
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